State v. Shaw:   Reading Comprehension Self-Quiz

(1) The grand jury indicted three men for taking fish from nets belonging to Grow and Hough.  State v. Shaw addresses the case against which of these men?


(a) James Postine.


(b) Henry Shaw.


(c) John Thomas.


(d) All of the above.
(2) The trial court directed a verdict of “not guilty” on the charge of grand larceny because it thought the state had failed to show what aspect of the crime?

(a) That the fish taken had sufficient value to constitute grand (as opposed to petit) larceny.

(b) That the defendants had the requisite criminal intent.

(c) That the fish taken were owned by someone besides the defendants.


(d) None of the above.  

(3)  Of the fish that swam into the nets owned by Grow and Hough, how many escaped?


(a) The precise number is unknown.


(b) Under ordinary circumstances, few fish escaped.


(c) More fish escaped during windy or stormy conditions than at other times.


(d) All of the above. 

(4)  What does the Ohio Supreme Court mean by “unnecessarily technical”?


(a) Too difficult for a layperson to understand.


(b) Requiring complex engineering or mathematics to resolve.

(c) Requiring a greater level of precision in construction than can reasonably be expected.

(d) Relying on very convoluted legal reasoning.

(5) Why does the court find bees to be a useful analogy here?

(a) Like fish, bees are normally found in groups.

(b) The Queen Bee normally remains in the hive even when the workers are absent.

(c) The owner of a hive is considered the owner of all the bees inside it even though some of the bees come and go from the hive.

(d) None of the above. 

(6) How does the court distinguish Young v. Hitchens?

(a)  In that case, the fish did not belong to anyone when the defendant took them.

 
(b) That case was a tort case, not a criminal case.


(c) That case was decided in England and so was not relevant in Ohio.

(d) There is no cause of action for frightening fish because they are cold-blooded animals.

(7) Having reversed the trial court, why will the Ohio Supreme Court need to remand the case for a new trial?

(a) So the state can prove that Grow and Hough did not “intend to abandon [the fish] to the world at large.”
(b) So that defense counsel has an opportunity to present the client’s defense.

(c) So the state can prove that sufficiently few fish escaped from the nets. 

(d) So that the state can try all the defendants together. 
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